Force Review Sheet

Useful Equations: ZF=ma FeeuFy 2F = Fone direction — Fopposite direction

~ !
Which has more inertia, a mouse or am{leiﬁhﬁt How does that relate to Newton’s 15t Law?
.-Whatis equilibrium? What is the net force on an object at rest?-\What does that tell you about the
.. amount of force to the right compared to the amount of force to the left. ~Fo P4l

Can an object be in motion if there is no net force on the object (equilibrium)? Why or why not?k
Why do you have to keep pedaling a bike to maintain a constant speed? ...}

In which direction does friction act? What happens to the force of friction as Fq increases? .
What is the ngrmal force? Which direction does;it act (the answer is not up)? - CoFos T
s S b o : ’ ‘ IRTL T e P )

A 1000. Kg carii{g fjraveling down the road when the driver slams on the brakﬁeys, creating a frictional
force that stops the car. The coefficient of friction is 0.35. Tt ta
a. \What is the amount of frictional force acting on thewgar? e

S

\;\_ﬂb.ﬂ,/VVhat is the a&celeration of the car? .~
f//)/”*/;/ Fe o cremed SUpoioond (gz30ekT) -
8. A 15 kg crate is pushed to the right with a force of 25 N. The crate experiences an acceleration of
+0.75 m/s®, . factg

7 o P ¥
(6 Lfncy B8 575

a. What is the net force acting on the cr}a/g@? LA S ~
/ %6 s

b. -What is the frictional force”.__

EAY i 3755 N7 (= oy

9. A stude;nit pulls a 15 kg box with‘a-foree5f 40.0 N at an angle of 25° above the horizontal If the
coefficient of friction, p, is 0.080: Fe s
a. What are the components of th%f__rcez
b. What is the normal force? ——7 Fn +x
c. Whatis the force of friction (Fy)?
d. Whati

Fiu

10. While walking through the airport, Mr. B pulls his luggage behind him at a con
force of 200. N at 30.0° above the horizontal. If his luggage has a mass of 35

ﬁ a. What is the magnitude of the friction acting on the luggage? ™7
by b Whatis u7
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stant velocity-wit
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11. A boy kicks a socter ball, creatingwhat type of force (contact or field forcey?
12. Whatis an example of a field force? foe o 7

13. What does Newton's 1% Law have to do with wearing a seatbelt? 7
14. What does the inertia of an object depend on?/"s¢ (o
15. Show the correct relationship for Newton’s 2™ Law on the graphs below.

ey
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16. Find the net force on these objects:
a.  gN b. 10N C. d.

+ :

10kg| 3 N<— —7N —20.N
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